Science 8										Name___________________
Electromagnetic Radiation 2 – The Wave Model of Light			Date____________________

1. The _________________________ model of light, pictures light travelling as a _________________________. 

a. Light is viewed as a type of _________________________ that travels through empty _________________________ and transfers _________________________ from one place to another

i. Scientists have developed a _________________________ of light by looking at how light _________________________, and then trying to _________________________ what they see.

b. Visible light is a _________________________ that you can _________________________.

2. Refraction of Light

a. Refraction is the _________________________ or changing _________________________ of a wave as it passes from one _________________________ to another.

b. _________________________ light, such as sunlight, is made up of waves having different _________________________ and _________________________. 

c. If a light wave is passes through a _________________________ the different _________________________ bend by different _________________________. 

i. The _________________________ wavelengths are refracted _________________________ than the _________________________ wavelengths

ii. Different _________________________ are separated when they emerge from the _________________________.

3. Water droplets also _________________________ light

a. The human eye can distinguish a range of _________________________ that are often described as falling into _________________________ broad categories. 

b. In order of decreasing wavelength, and increasing frequency, these colours are:  _________________________, _________________________, _________________________, _________________________, _________________________, _________________________, and _________________________. 

i. This range of colours or _________________________ of visible _________________________ is called the visible _________________________

c. The seven colours most easily seen in a _________________________ are sometimes abbreviated in the form of:  _________________________ (Red, Orange, Yellow, Green, Blue, Indigo, Violet).
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4. In the 17th century, Sir Isaac Newton placed a _________________________ so that a thin beam of _________________________ light could pass through it. 

a. When _________________________ light travelled through the _________________________, he saw bands of _________________________ emerge.

i. Newton  observed that each band of _________________________ was refracted at a different _________________________. 

ii. Newton concluded that the _________________________ was not the _________________________ of the _________________________. 

iii. The different _________________________ must have been _________________________ already in the _________________________ light.
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b. Newton then passed these _________________________ through more _________________________ and only _________________________ light emerged

i. Newton showed that _________________________ was a property of _________________________ light.

c. He proposed that _________________________ light such as sunlight is the result of mixing together all the different _________________________ of light. 
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5. Colour and Reflection

a. _________________________ occurs when a light wave strikes an object and _________________________ off.

b. When sunlight strikes _________________________ clothing, some colours are _________________________ while other colours are _________________________

i. Only the _________________________ colours can be seen.

c. Why does a bright red shirt look _________________________ when it is placed in a _________________________ room? 

i. A shirt does not produce its own _________________________

ii. It only _________________________ the _________________________ in the room

iii. The red shirt appears to be _________________________ when there is no source of _________________________.
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6. Only three colours of light, such as _________________________, _________________________, and _________________________, are needed to produce all the colours of the _________________________. 

a. The colours red, green, and blue are sometimes called the additive _________________________ colours.

i. Adding all three together in the proper _________________________ will make _________________________ light

b. The light of two _________________________ primary colours will produce a _________________________ colour.

i. The three _________________________ colours are _________________________, _________________________, and _________________________
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